o £
N
¥
i)

flo o m
2

¥Q
x|
L
i)
e

29
3 I¥g Bu [ Qo] ¥o] “FA T gt

o]

SERREE
TR Aol A9

4 == oA wxlS
S UEpfE AEe 5

ot 712 & A HA Q.

~

6 ¥& B0 B2 Yrt A

A HAQ.

st

'I.



i ==

oF!

7t

8 wxlgol 5 cm
Uk &Ajo] 2

Ce

9 uhas At AR ol 52

Sk O | -
R doliz -
oIt &k 71
290
BIRISE 1Mk :; : =
A Olgy d'n'_'T_' XISOIoF
T M

10 X0l 80 cmQ ¥ =go] ME =7
o] ¥IX] &2 % cmRl7ta?

(

~—

11 235} 2o] Ay
HAQ.

[Je]

13 Al det 42 270 o 18 A,

14

Wy xQ ok
M
N
ozt

Eg
i)
oX



16

15 8% =Yg 129
W A2 A BE
R 2 EotoF 27187
( )
A7t E2 d 7Y gelr% 37N
ol &ste] thaat F2 RY s wEdlE
Ut @1, 8L, ool ﬂl—l G
o A2 e Zol= R cmelrta?

17

18 wAlgol 5 cmd o Y42y Lo

Al §i9] Zolo] 2 FH cmlI7ta?

19 27, 3L, 3 o2 d9 3AdU
AE 19 ol E cmUA] Fo

IgS 23 G2 5l BAL.

gato] Ljgte] moFe T8 B
e 4ys) BAle.




S ZEEPDIES S8 e e LOlE  HID
42=02-07
2T AZ 0|50 0121 It
1 2 Jg|7| " o 5t
Xl 3719 Y2 YA T Ao O
8t Qo= POl & QUCh
4—+—02—06
2 20| X = 20t x= 5t
Qo] =, BIXZ, =22
g | A EABUHED a0 =y wxz 2ol 4, BX8 | o
4 2Io| BIXE 2Ot T| © 5t
5 Q10| BIX|Z 20T 7.7 5t
6 20| HE 20| b2 Le 5t
7 2ol 4, XIS 2ot P\ T | o
42=02-07
2HABOIZSIOI 0ROk | _
8 | X 300 s1= i x Cror | SHAE 018301 & 221)) 1,3, 2 5t
st 02 PO & Ut
QL 4=-02-06 2o 4E 2ot Xl el =
Qo] =Al HELI2 =22
=8 JID’_II_C'E S10| XS BHRZ ALOIO] 20 2
10| 20 JAS olsHEC | ] 40 cm =
42=02-07
2ATAZ 0|25t0{ 0121 It
Bt Q%2 P & QUCh
o 12 0|=25t0 01 X 2 1 N
219 <
22 0182510 01 JHX 2 1
13 =
cl |




(28
Hs CEPIES VL= He OIS HID
4==02-06
A L o | RO XS EXIZE A0l B 2 | 4em,
14 | &2 B4, BtXE, NE2 o] - - =
£ = P
oD, 1 B 0lshBH Ote
42=02-07
SHAS 018010 021 IH | 12 ojg5t0 of2f 1R 2% 1
15| X 3019/ #8 221N THY | 5y, st s
B DUS PY £ UL
402-06
1p | B2 S8, BAE, NSEZ | g0 vixiz 2otz 200 cm =
@D, 10 2AS OlGHED
4%=02-07
BHAE 01SotH A It AS 0|60 0] IIK 22 O
17| 13019 212 221K OY | 5y, © s
B DUS PY £ U
440206 219 XIS} BIXIZ AFOI] 24 & -
18| 2o Za1, BIXIE, NBLS | gy 24 cm =
— 2D, O BHE olE
. 210| X2} BHXIZ AF0I2] 21 & | 12 cm, .
Wb Eoor Bx -
4==02-07
ZHAE 0126t et Ot A2 0|25t 014 X 22 1
20 oo = < < I OfeH ==X At
X 3019 /8 24N T | o) = >
B 2US PY £ UL,
14 AAPEE Qe ™8 = e P 2 o 2000 fr TR EE T T
o] A AALZg ] 3 we] ok ko N AN
B2 8emuitt, k/;l
(71g 2 o] WA F)=8+2=4(cm) EEREEENSuw /‘/
) AW B A Wy 2 98
19 (}‘\j% “[L):16+2:8(0m), U‘H . N D]—Ei N OJ
AU A= E'_t 74t T_o
(AR Le)=8=+2=4(cm) Hj]jr. . :_ 1 i} Eﬁq]_ ].;'_]
A= 27 18|l AW AE B 27hiE
S (AR T)=8+4=12(cm) 472 27 2L, A -
Wel gle] AR2 1) 1YL,




